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Exercise 1

1.A) $16. B) $8. C) $32. D) $64. &7
2. A) $40. B) $80. C) $14. D) $28. &
3.A) 6. B) 2. C) 4. D) 10. '*'“‘
4. A) $46. B) $86 C) $56. D) $130. =
5. A) The man will pay ten dollars. C) The man will pay thirty dollars. U
B) The man will pay twenty dollars. D) The man will pay forty dollars. ﬁ
6. A) He may write a check for ten dollars. m
B) He may not pay by check. i)
C) He may write a check for the amount of purchase. ¥
D) He may write a check for twenty-five dollars. s
7. A) She must cover five miles. C) She must turn three corners. k:
B) She must walk five or six blocks. D) She must walk three blocks. U
8. A) $0.40. B) $0.45. C) $0.35 D) $0.30 o
9. A) Four. B) Two. C) Five. D) Six. ;
10. A) $150. B) $175. C) $200. D) $225. r\vf
o
Exercise 2 s
=
1.A) 15 minutes. B) 20 minutes.  C) 41 minutes. D) 35 minutes. &
2. A) 9:20. B) 9:14. C) 9:26. D) 9:06. N
3. A) At 10:00. B) At 9:00. C) At 9:15. D) At 9:30. E
4. A) 1t is a little after 1:15. C) It is exactly 1:15. U
B) It is 15 minutes faster. D) It s a little before 1:15. &
5. A) At 10:00. B) At 2:00. C) At 12:00. D) At 8:00. En
6.A) Teno’clock. B) Nine-thirty. C) Nineo’clock. D) Five o’clock. £
7.A) 12:15. B) 1:00. C) 1:10. D) 12:30. La

8. A) 7:10. B) 8:15. C) 7:45. D) 8:00.

9.A) At 8:35. B) At 8:05. C) At9:10.
10.A)9a.m.to 12 p.m. M



1. A) In the bakery.
B) In a restaurant.
2. A) At a wedding.
B) On a honeymoon.
3. A) At a hospital.
B) At a political conversion.
4. A) In a bakery.
B) In a taxi.
5. A) At a church.
B) At a library.
6. A) In adoctor’s office.
B) In a professor’s office.
7. A) In a kitchen.
B) In an orchard.
8. A) At a gas station.
B) At a bank.
9. A) At work.
B) At abank.
10. A) At the hospital.
B) At the library.

Exercise 3

C) In a bank.

D) On a farm.

C) In Florida.

D) At an airport.

C) At a graduation.

D) At a funeral.

C) In France.

D) In a post office.

C) In England.

D) At a theatre.

C) In alawyer’s office.
D) In a businessman’s office.
C) In a garden.

D) At a picnic.

C) At a hospital.

D) At a school.

C) On her way to work
D) At an apartment.

C) At the bookstore.

D) At the travel agency.

Exercise 4

1. A) Winter is his favorite time for sports. C) He should be more enthusiastic.

B) Sports are quite important to him.
2. A) Look for another seat.
B) Repeat the question.
3. A) A dentist.
B) A dietician.
4. A) Don’t subscribe to the journal.
B) Read a different journal.
5.A) He hadn’t finished his sketches.
B) He had finished his house.
6. A) Repair the other door.

D) He plays better than he used to.
C) Remain standing.

D) Sit down.

C) A cook.

D) A tailor.

C) Have a good journey.

D) Find a better engineer.

C) He could draw beautifully.

D) He wasn’t really dreaming.

C) Have an outdoor party.



B) Visit some ruins. D) Catch a Saturday train.
7. A) Eat cabbage. C) Throw out the rubbish.
B) Put the car in the garage. D) Don’t take out anything.

8. A) Where Sally lost her money last week.
B) What Sally had done to break her arm.
C) How Sally is feeling.

D) What Sally’s job is.

9. A) Finish putting her book away. C) Finish her work elsewhere.
B) Stop what she is doing. D) Help the man a little later.

10. A) He enjoys watching people dance.
B) He doesn’t think dancing is very hard.
C) He dances very well.
D) He might not really like dancing.

Exercise 5

1. A) He and his roommates moved the desk to his room.

B) The desk wasn’t as heavy as it looked.
C) His roommates found him another desk.
D) They had to get a moving company to help.
2. A) Laura really needs a full-time job.
B) Laura already has a job working for the school.
C) Laura needs to spend her time studying.
D) Laura should think about becoming a teacher.
3. A) Both chemistry courses are difficult.
B) Few chemistry courses are hard.
C) Chemistry 402 was worse than Chemistry 502.
D) He has only had one chemistry course.
4. A) He’d rather not go to the lecture.
B) He doesn’t mind if the woman goes to the lecture.
C) He wants to hear the lecture.
D) He's heard the lecture before.
5. A) He agrees with the woman about the cherries.
B) The cherries aren’t grown here.
‘C) There aren’t any cherries today.
D) He wants to know if the cherries:
6- A » " » ‘

Te6 CET6 CET6

—y
£
v

6 CE

‘6 CET6 CET6 CETo6 CE'1

-y
4

CE

ET6

<
s

C




HOD 9.LAD

F
b

19 9.L

p
S

b

1D 9LAD 9L

-

1D 9L

N
"

5.

40 9L

r
!

9LdD 914D 9L

the woman'’s paper.

B) If she had corresponded with her relatives recently.
C) If she is about to write to her friends.
D) If she still receives a lot of letters.

8. A) At a boat dock. C) At an airport.
B) At a weather station. D) At a sports area.
9. A) In an art gallery C) In a camera store.
B) In a machine repair shop. D) In a hardware store.
10. A) In a clothing store. C) Atacleaner’s
B) In a garden. D) At a printing shop.
Exercise 6
1. A) The woman will cook. C) He’ll get in a bad mood.
B) He won’t buy enough. D) He will have to buy food for the dinner.
2. A) Overseas. C) To the bank.
B) Travel agency. D) Anywhere.
3. A) The man will come with her. C) She promised herself.

B) She has too much work. D) No work is due the next day.

. A) Borrow some money.
B) Ask ifhe’s forgotten borrowing money.
C) Ask if he needs a loan.
D) Repay him.
. A) Lock the door. C) Hide behind the door.
B) Call the police. D) Get out from the window.

. A) That the man will not be able to sleep.

B) That someone will enter the back door while the man is sleeping.
C) That the lock on the door will break.
D) That the man will not be able to come back.

7. A) The man can’t drive. C) They can’t turn around.
B) The party is over. D) They are lost.

8. A) Go to Paris. C) Go to London.
B) Spend a weekend at home. D) Visit her cousin.

9. A) Experience. C) Degrees.
B) Good looks. D) Age.

10. A) It’s too expensive.

C) It’s reasonably priced.




B) It’s still expensive to her. D) It’s a bargain.

Exercise 7

1. A) The woman will arrive at the restaurant only ten minutes late.
B) The woman has ten minutes to get to the restaurant.
C) The man thinks he will be able to reach the restaurant in ten minutes. =

D) The man thinks he will not be able to drive quickly to the restaurant. ;w,
2. A) The machine won’t be very useful. \&
s

B) She will show him which piece to use.
C) He’s putting too much paper in the machine.
D) She can’t follow the instructions either.
3. A) The big parties are more impersonal than small ones.
B) She likes big parties better.
C) She likes small parties.
D) The party is nonsense.
4. A) He didn’t have enough money to go to the concert.
B) He arrived too late to hear the concert.

ET6 CET6 CE

|

C) He altered his plans suddenly. o
D) He plans to go to the concert tonight instead. N
5.A) Joe and Nancy couldn’t afford a honeymoon. :
B) Joe and Nancy went to Puerto Rico. e;’;
C) Joe and Nancy went to St. Augustine. \&
D) Joe and Nancy are still planning on going to Puerto Rico. e
6.A) “I’ll definitely see you on Sunday.” s
B) “I have too much homework to do.” o/
C) “I may see you on Sunday.” &
D) “IfI have too much homework, I’ 11 study with you.” E
7. A) Jane spoke last but not best. C) Even though last, Jane spoke fast. U
B) Jane spoke last and best. D) Jane spoke at a meeting. &
8. A) She thought it was extremely difficult. s
B) She thought it was OK. =
C) She thinks composition tests are boring. U

D) She thinks she will fail this test.
9. A) He can’t find his new building.
B) He had a bigger apartme;
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6. A) She had to fly out of town.
B) She’s sick. D) She decided to stay home.
7. A) The ground is too hard for planting.

8. A) He practised.

B) He is having a difficult time studying English.

C) He is not fluent in communicating with his classmates.

D) His classmates dislike him.
Exercise 8
. A) Feet. C) Solvent.
B) Shoes. D) Work.
2. A) Everything. C) Running.
B) Grapefruit. D) Quick eating.

. A) Something happened to her car.

B) She was broken and couldn’t afford the bus.
C) She got up too late to catch up the bus.
D) Her car got stuck in the driveway.

. A) She got scratched in the wild berry bushes.

B) She got cut at the wild picnic celebration.
C) She was allergic to the fruit that she had eaten.
D) She was trying to get a suntan at the picnic.

. A) Bill will buy the car as soon as he gets the money.

B) Bill’s friend is buying the car for him.
C) Bill can’t afford to buy a new car.
_ D) Bill has already made the down payment on the car.

B) Transportation is expensive from California.
C) There has been so much rain in California.
D) The planters are experimenting with new crops.

B) She stopped reading.

10. A) The woman. C) A hat.
B) Too much walking. D) The sun.

C) She said that she’d come later.

C) He rowed hard yesterday.
B) He ate a lot. D) He wasn'’t tired.
9. A) She started swimming. C) She baked some bread.

D) She went on a diet.
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Exercise 9 &
o
1. A) He doesn’t want to answer. :E“
B) He put the information on the top of the desk. %:':
C) He doesn’t know the answer. g::
D) He’s afraid that very few people are registered. 23]
2. A) Her back hurt during the meeting. &9
B) She agrees that it was a good meeting. \&
C) The proposal should be sent back. P
D) His support would have helped this morning. EI':
3. A) He speaks too fast. C) He doesn’t come to the point.
B) He speaks too slow. D) His speech is not clear.
4.A) He didn’tsleep at all. C) He slept very well.
B) He slept restlessly. D) He only slept a little

5. A) He works three times as much as he did before.
B) He has two free days for every three days he works.
C) He works three nights every two weeks.
D) He has twice as much work as he used to have.

6. A) They can’t afford to eat meat.
B) Their rent has been raised so they have to cut down on their grocery expenditures.
C) The cheaper grade of meat comes without fat.
D) They will have to cut down on expense.

7. A) Joe will lose his car because he hasn’t made the payments on time.
B) The finance company is returning Joe’s car.
C) Joe has a broken finger from falling on the pavement behind his car.
D) Joe’s car is being repaired.

T6 CET6 CET6 CET6 CET6 (

8. A) He wrote it last semester. C) He never does assignments early.

r S

B) He’ll finish it in a few minutes. D) He isn’t going to write it. :
9. A) She is a thief.

) ©°

B) She is stupid. Bt

C) She is honest but capable of making a mistake. =

D) She is suspicious of Kari. (&)

10. A) He’s upset because he has cut himself.
B) He can’t face the physics instructor any lon,

C) He wants the woman to cut



Exercise 10

1. A) He will talk to Bill. C) Bill is always like that.
B) He agrees with the woman. D) The woman should be happy.
2. A) He can get ahead of herin line. ~ C) She is nearly finished.
B) Her copying is unimportant. D) He should use the machine next door.
3. A) A handbook. C) A post in Canada.
B) Some medicine. D) Some postgraduate work.
4. A) To play piano. C) To read the scripts.
B) To give a performance. D) To sing a song.

5. A) The class usually begins at three.
B) Professor Smith didn’t have class today.
C) The woman’s class was allowed to leave ahead of time.
D) The woman wasn’t with the others.
6. A) They are pleased with their new automobile.
B) They use different transportation everyday.
C) They don’t normally drive on this route.
D) They will have to change buses again.
7. A) She’s careless.
B) She likes George very much.
C) She’s not concerned with George’ s health.
D) She doesn’t care what George said.
8. A) Eating in a cafeteria. C) Making a telephone call.
B) Buying something in a store. D) Getting money at a bank.
9. A) Mike’s friends didn’ t plan to go to the game.
B) All of them couldn’t ride in the woman’s car.
C) Mike had a scar on his ear.
D) Mike’s car wasn’t available.
10. A) Approach the problem in a logical fashion.
B) Time how long it takes to solve the problem.
C) Take a couple of aspirin and then rest a bit.
D) Try using multiplication first.

Exercise 11

1. A) At a bookstore. C) At a travel agency.




B) At a history lecture.
2. A) In the library.
B) In the college bookstore.
3. A) At the information desk.
B) On the platform.
4. A) In a school.
B) At the post office.

5. A) In a shipping company office.
B) In Professor Benson'’s office.

6.A) 6:00 p.m.
B) 8:00 p.m.
7. A) The plane arrived at 8:15.
B) The plane arrived at 7:30.
8. A) 8:00.
B) 8:10.
9. A) 8:00.
B) 8:20.
10. A) Thursday morning.
B) Thursday afternoon.

1. A) It’s a national holiday.

B) There is a transportation strike.

2. A) She has a cold.

B) She’s going away for the weekend.

3. A) He’son a diet.

B) He has a bad reaction to sweets.
4. A) There is only one bottle left.

B) She doesn’t have enough money.
5. A) She watched a movie all night.

B) She had an eye exam.
6. A) The man has a sore throat.

B) The man lost his voice.

B) She has not chosen a pi

D) At an art gallery.

C) At a newsstand.

D) At a department store.

C) On the train.

D) Near the stairs.

C) In a courtroom.

D) In a packing plant.

C) In a publisher’s office.
D) In a university store.

C) 9:00 p.m.

D) Nobody knows.

C) The plane arrived at 7:00.
D) The plane arrived at 7:15.
C) 8:07.

D) 8:13.

C) 7:40.

D) 8:10.

C) Friday morning.

D) Friday afternoon.

Exercise 12

C) The teacher is ill.
D) The teachers are on strike.

C) She must work over the weekend.

D) She has another date.

C) He doesn’t like chocolate.
D) He just finished dinner.

C) The store is already closed.

D) The store doesn’t carry her brand.
C) She took an exam all night long.

D) She was studying all night.

C) The woman doesn’t have the music.
D) The woman has to work at the music store.
7. A) She was unable to have her picture taken.
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B) To get some exercise.
C) To buy some items.
D) To see their aunt.
9. A) She may need to take another course.

B) The maths course is too short.

C) The graduation date has been changed.

D) She should have gotten a better score.
10. A) He believes Mark was the wrong person.
B) He wants to know who is telling the truth.
C) He finds the result unbelievable.
D) He thought there wouldn’ t be any awards.

Exercise 13

Passage One

Questions 1 to 2 are based on the passage you have just heard.

1. A) Red Cross duties.
B) The destruction caused by the earthquake.
C) The history of government aid.
D) Housing problems in the city.
2. A) Hundreds. C) Seven.
B) Fifty. D) Five.

Passage Two
Questions 3 to 5 are based on the passage you have just heard.

3. A) San Francisco. C) The Pacific Ocean
B) Nimi. D) Along the U.S. coast.
4. A) The earthquake was serious.
B) New earthquakes are not expected.
C) An island was destroyed by the earthquake.
D) Earthquakes of unknown intensity are expected.
5. A) They will be of high intensity.
B) They will occur along the coast.




C) They will occur there with unknown intensity.

D) They are predicted 100 miles away.

Passage Three

Questions 6 to 8 are based on the passage you have just heard.

6. A) Use of library facilities. C) Library personnel.
B) Library regulations. D) Location of the library.

7. A) Book publisher. C) Returning faculty members.
B) Librarians. D) New university students.

8. A) The periodicals section. C) The reference section.
B) The reading rooms. D) The stacks.

Passage Four

Questions 9 to 11 are based on the passage you have just heard.

9. A) Sir william Johnson’ s role in colonial America.
B) The trade patterns of the Iroquois nation.
C) Sir william Johnson and the American Revolution.
D) The British-French conflicts in the 1700’ s.
10. A) Travel to England and France.  C) The settling of boundaries.
B) Rewards for Iroquois help. D) The trading of fur.
11. A) Just before the American Revolution.
B) During the American Revolution.
C) In1756.
D) Inthe 1800’ s.




